[bookmark: _GoBack]Name:  ___________________________________________			Date:  ______________
Wacky Water World Amusement Parks  
GREAT NEWS!!! Not just one BUT TWO new water parks have opened up in your neighborhood!!! You and your friends can’t wait to go but don’t have a lot of money!  You need to compare both parks before you decide which one you want to go to.  Take a look at both parks below:
	Park A
	Park B

	$5.00 admission
	$10.00 admission

	$1.00 per ride
	$0.50 per ride


Based on this, which park do you think you and your friends should go to?  ________________________
Why?  (Be specific and write in complete sentences!)
_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Now, let’s calculate the total cost for both parks for riding rides.
	Park A
	Park B

	Number of Rides
	Total Cost
	Number of Rides
	Total Cost

	0
	
	0
	

	1
	
	1
	

	2
	
	2
	

	3
	
	3
	

	4
	
	4
	

	5
	
	5
	

	6
	
	6
	



What equation can we use to represent our data?  
How about y = mx + b where 
y is the total cost 
m (or the slope) is the number of rides times the cost 
b is the admission price.  

Go ahead!! Try it out for each plan.  Let’s use one ride from our example as our first test.  I’ll help!
	Park A
	Park B

	 1 (1) + 5 = ____________
	1 (.50) + 10 =  ______________



Did you get the same answer as you got in your table?  I hope so!

Let’s graph our results!
1. The number of rides goes on the x or horizontal axis.  
2. The total cost goes on the y or vertical axis.  
3. Be sure to label each axis and give your graph a title!!
4. Graph the data using your ordered pairs for Park A with a RED colored pencil.  Graph your data for Park B with a BLUE colored pencil.
Time to Analyze! 
Use the equation y = mx + b to help you answer the following questions below:
1. If I ride 9 rides at Park A, it will cost _________________________.
2. If I ride 9 rides at Park B, it will cost _________________________.
3. If I ride 30 rides at Park A, it will cost ________________________.
4. If I ride 30 rides at Park B, it will cost ________________________.
5. If I spend $15 at Park A, how many rides did I ride?  ____________
6. If I spend $20 at Park B, how many rides did I ride?  ____________
Now, use your graph to help you answer these questions!
7.  When would it cost the same to ride at both parks?
______________________________________________________________________________
8.  Explain what you see on your graph that shows you this.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
9. When would it cost more to ride at Park A?
______________________________________________________________________________
10.  Explain what you see on your graph that shows you this.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
11. When does it cost less to ride at Park A?
______________________________________________________________________________
12.  Explain what you see on your graph that shows you this.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
13. Compare the lines on your graph for Parks A & B.  
a. Which of the lines is steeper? _______________________________________________
b. What does that mean as it relates to the total cost of riding at each park?
________________________________________________________________________________________________________________________________________________
Making A Prediction!
What do you think the line of the graph would look like if you graphed the following situation?
A park that has a $25 admission price and no charge for rides
____________________________________________________________________________________________________________________________________________________________



Name:  ___________________________________________			Date:  ______________
Wacky Water World Amusement Parks  
GREAT NEWS!!! Not just one BUT TWO new water parks have opened up in your neighborhood!!! You and your friends can’t wait to go but don’t have a lot of money!  You need to compare both parks before you decide which one you want to go to.  Take a look at both parks below:
	Park A
	Park B

	$5.00 admission
	$10.00 admission

	$1.00 per ride
	$0.50 per ride


Based on this, which park do you think you and your friends should go to?  ________________________
Why?  (Be specific and write in complete sentences!)
_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Now, let’s calculate the total cost for both parks for riding rides.
	Park A
	Park B

	Number of Rides
	Total Cost
	Number of Rides
	Total Cost

	0
	
	0
	

	1
	
	1
	

	2
	
	2
	

	3
	
	3
	

	4
	
	4
	

	5
	
	5
	

	6
	
	6
	



What equation can we use to represent our data?  
Here’s a hint:   The total cost will equal ________________________ times the number of rides plus _________________________.

Now let’s translate that into symbols to represent an equation we already know!
Use y to equal the total cost and x to equal the number of rides.
  So y =  ______x + _______

Go ahead!! Try it out for each plan.  Let’s use one ride from our example as our first test.  I’ll help!
	Park A
	Park B

	 1 ( ___ ) + ___  = _________
	1 ( ___ ) + ___  = _________



Did you get the same answer as you got in your table?  I hope so!
Let’s graph our results!
1. The number of rides goes on the x axis.  
2. The total cost goes on the y axis.  
3. Be sure to label each axis and give your graph a title!!
4. Graph the data using your ordered pairs for Park A with a RED colored pencil.  Graph your data for Park B with a BLUE colored pencil.
Time to Analyze! 
Use the equation you found to help you answer the following questions below:
1. If I ride 9 rides at Park A, it will cost _________________________.
2. If I ride 9 rides at Park B, it will cost _________________________.
3. If I ride 30 rides at Park A, it will cost ________________________.
4. If I ride 30 rides at Park B, it will cost ________________________.
5. If I spend $15 at Park A, how many rides did I ride?  ____________
6. If I spend $20 at Park B, how many rides did I ride?  ____________
Now, use your graph to help you answer these questions!
7.  When would it cost the same to ride at both parks?
______________________________________________________________________________
8.  Explain what you see on your graph that shows you this.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
9. When would it cost more to ride at Park A?
______________________________________________________________________________
10.  Explain what you see on your graph that shows you this.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
11. When does it cost less to ride at Park A?
______________________________________________________________________________
12.  Explain what you see on your graph that shows you this.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
13. Compare the lines on your graph for Parks A & B.  
a. Which of the lines is steeper? _______________________________________________
b. What does that mean as it relates to the total cost of riding at each park?
________________________________________________________________________________________________________________________________________________
Making Predictions!
What do you think the line of the graph would look like if you graphed the following situations?
1.  A park that has no admission price and each ride is $3.00 each.
____________________________________________________________________________________________________________________________________________________________
2.  A park that has a $25 admission price and no charge for rides.
____________________________________________________________________________________________________________________________________________________________


Name:  ___________________________________________			Date:  ______________
Wacky Water World Amusement Parks  
GREAT NEWS!!! Not just one BUT TWO new water parks have opened up in your neighborhood!!! You and your friends can’t wait to go but don’t have a lot of money!  You need to compare both parks before you decide which one you want to go to.  Take a look at both parks below:
	Park A
	Park B

	$5.00 admission
	$10.00 admission

	$1.00 per ride
	$0.50 per ride


Based on this, which park do you think you and your friends should go to?  ________________________
Why?  (Be specific and write in complete sentences!)
_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Now, let’s calculate the total cost for both parks for riding rides.
	Park A
	Park B

	Number of Rides
	Total Cost
	Number of Rides
	Total Cost

	0
	
	0
	

	1
	
	1
	

	2
	
	2
	

	3
	
	3
	

	4
	
	4
	

	5
	
	5
	

	6
	
	6
	



What equation can we use to represent our data?  
Here’s a hint:   The total cost will equal ________________________ times the number of rides plus _________________________.

Now let’s translate that into symbols to represent an equation we already know!
Use y to equal the total cost and x to equal the number of rides.
  So y =  ______x + _______

Go ahead!! Try it out for each plan.  Let’s use one ride from our example as our first test.  I’ll help!
	Park A
	Park B

	 1 ( ___ ) + ___  = _________
	1 ( ___ ) + ___  = _________



Did you get the same answer as you got in your table?  I hope so!
Let’s graph our results!
1. The number of rides goes on the x axis.  
2. The total cost goes on the y axis.  
3. Graph the data using your ordered pairs with two different colored pencils to show your results.
Time to Analyze! 
1. If I ride 9 rides at Park A, it will cost _________________________.
2. If I ride 9 rides at Park B, it will cost _________________________.
3. If I ride 30 rides at Park A, it will cost ________________________.
4. If I ride 30 rides at Park B, it will cost ________________________.
5. If I spend $15 at Park A, how many rides did I ride?  ____________
6. If I spend $20 at Park B, how many rides did I ride?  ____________
7. When would it cost the same to ride at both parks?
______________________________________________________________________________
8.  Explain what you see on your graph that shows you this.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
9. When would it cost more to ride at Park A?
______________________________________________________________________________
10.  Explain what you see on your graph that shows you this.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
11. When does it cost less to ride at Park A?
______________________________________________________________________________
12.  Explain what you see on your graph that shows you this.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
13. Compare the lines on your graph for Parks A & B.  
a. Which of the lines is steeper? _______________________________________________
b. What does that mean as it relates to the total cost of riding at each park?
________________________________________________________________________________________________________________________________________________




Making Predictions!
What do you think the line of the graph would look like if you graphed the following situations?  Explain your answers using complete sentences!
1.  A park that has no admission price and each ride is $3.00 each.
____________________________________________________________________________________________________________________________________________________________
2.  A park that has a $25 admission price and no charge for rides.
____________________________________________________________________________________________________________________________________________________________
3.  A park that has a $5 admission price for your first three rides, then charges $1 for each additional ride.
____________________________________________________________________________________________________________________________________________________________



	Advertise your Waterpark! Which one is better??!!
Student Names:     ___________________________________________________________________________________

		CATEGORY 
	4 
	3 
	2 
	1 

	Accuracy of Plot
	All points are plotted correctly and are easy to see. A ruler is used to neatly connect the points or make the bars. 
	All points are plotted correctly and are easy to see. 
	All points are plotted correctly. 
	Points are not plotted correctly OR extra points were included. 

	Neatness and Attractiveness
	Exceptionally well designed, neat, and attractive. Colors that go well together. A ruler is used for the graph and the explanation is written neatly. If doing a verbal advertisement, the prompts are neat and students have dressed in presentable clothing.
	Neat and relatively attractive.  Parts of the presentation or advertisement are not as organized or thought out as they should have been or the written advertisement is not as neatly written.
	Some thought was put into this project but many parts of it are sloppy and unorganized.
	Appears messy and "thrown together" in a hurry. No time was taken to think through the project and the expectations.

	Mathematical Concepts 
	Explanation shows complete understanding of the mathematical concepts used to solve the problem(s). 
	Explanation shows substantial understanding of the mathematical concepts used to solve the problem(s). 
	Explanation shows some understanding of the mathematical concepts needed to solve the problem(s). 
	Explanation shows very limited understanding of the underlying concepts needed to solve the problem(s) OR is not written. 

	Explanation 
	Explanation is detailed and clear.  The reader/listener completely understands what the student is trying to convey without question.
	Explanation is clear. Some parts need a little more explanation.  It leaves the reader/listener with a few questions.
	Explanation is a little difficult to understand, but includes critical components. 
	Explanation is difficult to understand and is missing several components OR was not included. 

	Working with Others 
	Student was an engaged partner, listening to suggestions of others and working cooperatively throughout lesson. 
	Student was an engaged partner but had trouble listening to others and/or working cooperatively. 
	Student cooperated with others, but needed prompting to stay on-task. 
	Student did not work effectively with others

	Writing Prompt
	Student explained which water park has the better price and cited examples from their data as evidence.  All facts are reported accurately.  The student used varied correct sentence structure, punctuation and spelling. 
	Student explained which water park has the better price but only cited one example from their data as evidence.  The student used some varied sentence structure and only 85% of punctuation and spelling was correct.
	Student explained which water park has the better price but did not cite examples as evidence.  The student did not use varied sentence structure and only 70% of punctuation and spelling was correct.
	No explanation was provided.







